SE55EM KRR E L A=
<BFA—To0E REBEHER>

#IR:2019%48148(8)
357 : BT T S B b 3RS

1 2 3 4 5 6 7 8
A—F 2 BF100m EIAE:) M2 PATEES 3 ZH ZE 1 tHHE £/ 2 A 1 PEEEVPS 4 wn =5 2
-1.7) JEA 10.58 3PN 10.93 IEXR 11.03 E+X 11.06 RiEA 11.07 BAX 11.11 E+X 11.36 -
A—T 2 BF200m HE = 3 INE BX 4 ) EE 1 BiR =N 1 0 B 1 INE R 4 me 15t 2
(+0.0) BiAX 21.71 5N 21.71 5D N 21.73 HEX 22.14 IEXR 22.15 E+X 22.25 E+X 2255 -
T BF400m ET mE 4 B BaE 2 FRE Al 1 T TR 1 E) 4 RSP S 2 PNES 3 EK HE 3
RiEX 4756 E3 PN 4807 E+X 48.24 BN 4847 BN 485 B#AX 49.76 BEX 50.35 RN 50.38
T =L ®mF 3 RE K 3 O Bk 2 A mEA 2 NN ES 2 BRE RI1E 4 KE KR 3
[EPN 1.54.62 EZ:PN 1.55.61 BiAX 1.56.97 B+t X 1.57.27 JEA 1.57.62 E+tX 1.59.13 EF:PN 2.01.01 -
AT BT 1500m Il HE—EA 4 Bf LXK 2 & BX 4 mas B 4 Ak R 2 TEEF BX 1 #AR "RE 1
RAEX 3.53.86 E+X 3.58.78 PN 3.59.04 BiAX 4.00.04 E+X 4.04.62 iR 4.05.74 B{AX 4.07.29 -
+ B 25000 s AR 2 ELEE 38 3 Ell 8& 1 NRJI BA 2 WA BA 1 FEH BH 1 =t B 1 BA Eth 1
E¥:PN 14.29.34 E+tX 14.32.78 JEA 14.35.08 E+tX 14.36.44 JEA 14.45.63 E¥-PN 14.45.83 EiaN 14.53.43 B{AX 14.54.51
R INE FERER 4 £ BE 1 EEEES 2 o EB1E 1 Al B 4 T EHE 2 FIHE 58 4 K & 4
JEAR 29.57.26 EZ:PN 29.58.47 EE-PN 29.59.89 [P 30.18.28 E+tX 30.19.11 [EPN 30.29.48 AKX 30.30.69 E+X 30.46.87
A—TUBF110mH #}|AR A 2 EERGES 4 HH #ME 1 A —#18 2 i X# 3 BA B 1 mEHE R’ 4 #®]A HA 2
-02) E¥:PN 14.24 EZ:PN 14.32 [:PN 14.39 ZRZPN 14.51 [N 14.76 ZL%-PN 14.92 EiaN 15.16 E+X 15.79
T H#E ER M2 Frrp EA M1 nEE e 3 &3 wEER 1 IR 4 BA #X 3 % BE 3 RSP 1
JIEXR 51.03 IEX 51.72 EtX 52.16 EF:PN 52.41 EtX 53.90 ZRZPN 53.96 EF:PN 53.97 B{AX 55.31
A BT 000mSO EERGS 1 =5 153 1 BERRKE 4 RE: 18 1 FE2M 11T 2
E+X 9.24.18 EtX 9.24.51 EtX 9.28.91 EF:PN 9.49.73 EtX 10.08.77 - - -
. #iRk [E 3 A MK 2 Hne —#H 3 R 1
AT BT 1000amw JEAR 40.59.03 JEA 41.36.24 JEA 43.03.70 E+tX 49.31.21 - - - -
BT 100mR [P BEX EtX B#EX
40.52 40.86 41.34 49.88
BT x 400 [P BEX EtX B#EX
3.10.84 3.13.55 3.15.73 3.20.67
R EE 1 B 2 IR BB 3 ISR e 4
JEXR 2m00 L3N 2m00 L3N 1m90 BiAX 1m90 - - - -
—— K #Ar 1 HE EF 2 =8 X 4 FRAE 5P 2 - 3
BiAX 5m00 IEX 4m80 L3N 4m80 IEX 4m80 BiAX 4m70 - - -
R s #HBiE M1 ET PN 1 tEaK &3 2 B REA 3 EH £ 3 A X— 3 EiR 5 4
JIEXR 7m36 IEX Tmi4 L3N 7m09 BiAX 6m78 L3 PN 6m77 E+X 6m58 EtX 6m39 -
U Bt —# 3 =H®#A 2 WA K— 3 SVFT BEE 1 &S %t 4 KR ok 3
Et X 15m02 BEX 14m88 E+X 14m82 (5PN 14m78 EF:PN 14m71 IEA 14m51 - -
K RfT BSF 2 B S 1 fhFt R 3 rE &R 3
AT AT E+X 14m96 E+X 14m85 EZ:PN 13m48 AKX 11m18 - - - -
- RAE [Bth 4 EXE PN 3 BIER £5% 2 mHx EF 2 [EIEE T 2 B 183 3 A B 1 FH BAE 1
JEAR 44m18 L3N 43m89 L3N 42m39 BiAX 41m68 BN 41m41 B{AX 39m58 E+X 39m39 E+X 39m22
BT i Al & 2 =ie g8 4 AR &R 2 =H BE 2
JEXR 56m99 L3N 54m71 L3N 50m46 IEX 47m33 - - - -
- AN R 3 LA 5% M1 EE EX M1 =z ® 1 W Rt 2 By Mz M1 TR Eh 1 R E— 1
E+tX 68m92 BiAX 67m90 L3N 67m32 E+X 64ma1 BiAX 61m76 IEX 58m98 [N 58m22 RiEX 54m67




SRo5E MK Bk AR K&
<KFA—ToDE REBFER>

#H 201954 148 (H)
157 BT B ILBE LSRRGS

- 2 3 4 5 6 7 8
A—F & F100m EilESE 1 =1E BEH 1 EHEAT FNIEEES 3 LEEEEES 2 X Hhvka = OUE 1 fE 2K 4
BiAX 12.37(0.0) BiAX 12.39(-1.9) HiBEX 12.64(0.0) A&iAX 12.89(0.0) B&iEK 12.89(-1.9) E+X 13.00(0.0) E$UN 13.12(-1.9) JEX 13.45(-1.9)
A—F % F200m By PXRF 3 EH TETF 3 He B EHH E 3 PR EiE 2 AR 2 &H# hE 2
0.1 BAX 25.11 RiEX 25.62 BAX 26.16 HiEX 26.29 H&AX 26.72 E+X 27.34 E+X 28.54 -
F— ke F400m B85 HFFE 1 b WmE 2 o BEiE BEx 2 &% A 2
BiAX 56.67 BAX 56.78 JIEX 59.16 A&iAX 63.54 [EBS 64.58 - - -
F ek F800m ii=F3 1 KEET 4 i+E & tH HF 1 ZEE 3
IBX 2.13.24 BAX 2.14.22 BAX 21479 IEXR 2.21.82 RiEX 2.33.67 - - -
g Fig MYA 1 B BExR 3 EE &R
FoTvETOn gk 4.37.77 IEX 4.38.43 [EES 4.55.54 - - - - -
s 25000m FE X 4 —# = 2 EESEETY =T 1 AR HESH 4 A ¥ BR 5 2 NP HE 1
BAX 16.51.69 BAX 16.56.63 BiEX 16.58.55 BN 17.02.44 BiAX 17.15.65 BAX 17.26.90 JEX 17.32.88 =N 17.42.89
F—F & F100mH Wi EE 4 LE HE 4 fErRK MES MR fER 4
(-14) E+X 14.44 BAX 14.98 BAX 14.99 E+X 15.09 - - - -
s F400mH N 2 £ BHE 2 R HEx xE B=X 4
BAX 64.34 BAX 65.10 E+X 68.39 A&k X 71.40 - - - -
. P& A5 2 I AR & 2
ATTVETOOMN ey 26.31.49 IEA 28.42.49 - - - - - -
A —T & F4x100mR B ﬁij( i/ﬁk B -
46.62 48.93
F—F2 K T4 400mR BEX h h
3.48.61
I TR F2 2 EN K 4 fEiE FE KE E#8H 2 Eh =& 3 EE BN NI B 2
HZH@EX 1m66 B&ziAX 1m66 BAX 1m60 BAKX 1m60 EX 1m60 E+tX 1m55 E+X 1m50 -
I AR B 3 BR B 2 N = =R E¥R 1 1k IEE 3
BAX 3m60 BAX 3m40 H&iAK 3m40 B&ziAX 3m10 E+X 2m80 - - -
P B Al 4 BA IE 3 FEME =8 £H BF 4 =R 55 2 Ik ¥ K& XIE 3
BAX 5m72 B&ziAX 5m48 B&iEX 5m42 HiEKX 5m23 E+X 5m19 E+tX 4m99 BiEX 4m79 -
T AR TR 1 JEA MR 1 =R Eo6 AH X 2 Ik ¥ 3 IR OB
HZEX 12m05 [N 11m38 E+X 11m08 H&AEX 10m84 Emap N 10m65 BiAX 10m52 - -
Bl BF 3 HH $E1E 3
PTTETRAR N gk 12m07 LN 10m99 - - - - - -
S HH #1E 3 1k &< 4 Rk hi BEXK 1 Bl B%F 3 M aoF HE A 1
BiAX 42m34 BAKX 40m66 E+X 40m25 L3N 39m80 Eap N 39m50 H&@EX 35m26 [N 32m04 -
ozt BhiE EK 1 B % 1 T&M R B =F 2 FIEh 2 F 1
L3 PN 49m37 [N 47m40 IEX 46m51 L3N 44m25 BiAX 36m30 - - -
ST PR E X25F 2 E FN{E 2 FUBE AL 1E5k BAR 4 FUEE 3 &R uhd
E+X 48m40 E+tX 44m81 BiAX 38m95 BiAX 38m50 HZEX 37m78 H&EX 34m83 - -




